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. Ab pound sphere moves down a frictionless plane W|th e

a vertical drop of 1 for every horizontal distance of 4. What .
- is the velocity after the sphere has expenenced a verucal s . { s

dlsplacement of 1 foot? ; % ’\f »
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{A) 64.4 ps (B) 8.0 fps {C) 32.2 Tps
D) 33.1fps - (E) 1094.0 fps _

AV R ff/;

M,‘__F-(...wﬂ.._.

R =EY gy v g

. o L
A 2200 pound vehicle malntams a constant 45 mph up %&\m! |
3% mclme ‘What horsepower is required? : ' L S e

( b\_{‘;ui%}

= 3k 08 | S )
' Cﬁ)
(A) 5. B) 8 : {cyz24 - : /

| o7z @ “emph




-~ Work Ow’”{“g““f"fﬁ”“/}'Imulw”ﬁ,Q‘ff;%% Bodse

Fio h

Lot Vi L= v

y»awmwxuﬁaewwchu

P . ﬂ?w
|

""_"{”V qﬁ(/(u{ -0xis m{;mﬁ = ;ﬁ [06\} Ib“—"l M{o{ ;’..._

- ".\&«U}{Qi’m\j(g?- S ' Y‘ R Y% _ gm. { ” _"%‘*%_J [

L &&(;K ,LcmL‘W
Ci) \)‘m 2 é‘i»lné,‘s"@ ;“gm{

mmw?mm

Cm WQ/”L .7£V’CL
g 741?“3 \.\

Vv J"\j W modrgr w Ping, .

Er'}"%tz}[/ . (__}“f CzU‘g / “ﬁf{’ ey (!{'}E’p M‘?g‘ i Ef‘;fﬁ%”;

/ F‘(f( Ereny C‘!L‘?‘Q— No 1’/1!6?; H/\_ W/!7?ﬁ?,
\/‘”47/ 3 I - hm! gf; \/(?’((n('?f

7




/F;\{fu ,,f\
-..‘,..,.—4”'

A 45 000 pound |a|lroad car is moving at a speed of . N
2 fps to ihe right. After coiliding with a 4
car initially at rest, the 40, 000 pound car moves 10 the

right with a speed of 1.2 fps What is the coefﬁcnent of - S ‘:- (@ A Q{/\)

restitution?
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. The stesl ball strikes the heavy steel plate with a
velocity v, = 24 m/s at an angle of 60° with the

' horizontal. If the coefficient of restitutionise = 0.8

compute the velocity v and its direction 8 with which
the ball rehounds from the plate. B '
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cords ACandBD penetrates the block at point £, halfway between C and D,
without hitting cord BD. Determine {a} the maximum height 1 to which the
block and the embedded bullet wilt swing after impact, (h) the total impulse
exerted on the block by the two cords during the impact, RV
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' A 1 slug wheel wnth a 2 foot radlus rotates at - /b o . ST

. 8 radians per second. What is the tangential force /”'“‘;'r\ (— N |
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' -required ta stop rota’uon |n 5 seconds?
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